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Gaussian_plot.py

gaussian.py
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import random

def uniformint(lo, hi):
return random.randrange(lo, hi)

def uniformFloat(lo, hi):
return random.uniform(lo, hi)

def bernoulli(p=0.5):
return random.random() < p

def binomial(n, p=0.5):
heads = 0
for i 1in range(n):
if bernoulli(p):
heads += 1
return heads
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def main(Q):
import sys

n = int(sys.argv[1])

for i in range(n): % python stdrandom.py 5
print(‘ %2d * % uniformint(10, 100), end='") = 61 21.76541 true 9.30910 0
T i formenc (001 9900, ené ) 57 4364307 false 9.42365 0
print(‘%7.5f ° % gaussian(9.0, 0.2), end="") 31 30.86201 true 9.06366 0
print(‘%2d * % discrete([.5, .3, .1, .11), end=‘") 92 39.59314 true 9.00896 O
print() 36 28.27256 false 8.66800 1

if __name == ‘__main__":

main()
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$ python random points.py 10000 |

import sys
import stdrandom
import stddraw

def main():
n = int(sys.argv[1])
for i 1in range(n):

X = stdrandom.gaussian(0.5, 0.2)
y = stdrandom.gaussian(0.5, 0.2)

stddraw.point(x, y)
stddraw.show()

if _name__ == ‘_main__’: ERTLR g e
main() x B,
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import sys, math
import stddraw, stdrandom, stdstats
import gaussian

n = int(sys.argv[1])

trials = int(sys.argv[2])

freq = [0] * (n + 1)

for t in range(trials):
heads = stdrandom.binomial(n, 0.5)
freq[heads] += 1

nhorm = [0.0] * (n + 1)

for i in range(n + 1):
norm[i] = 1.0 * freql[i] / trials

phi = [0.0] * (n + 1)
stddev = math.sqrt(n) / 2.0
for i in range(n + 1):

phi[i] = gaussian.pdf(i, n / 2.0, stddev)

stddraw.setCanvasSize (1000, 400)
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python bernoulli.py 20 100000

stddraw.setYscale(0, 1.1 * max(max(norm), max(phi)))

stdstats.plotBars(norm)
stdstats.plotLines(phi)
stddraw.show()
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